



Vendor Ranking

**Letting:** 05260203 February 03, 2026 2:00 PM **Call Order:** 003 **Contract:** E50G5  
**District:** District 5 **Counties:** VOLUSIA **Fed Aid No:** N/A  
**Contract Time:** 100 AVAILABLE DAYS **Project(s):** 44708615201 (\*)  
**Contract Desc:** SR 44

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	C.W. ROBERTS CONTRACTING, INC.	Responsive	Winning bid	\$1,245,779.87	100.00%
2	MASCI GENERAL CONTRACTORS, INC	Responsive	Non-Winning Bid	\$1,343,370.35	107.83%
3	HALIFAX PAVING, INC.	Responsive	Non-Winning Bid	\$1,500,554.97	120.45%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 05260203 February 03, 2026  
**District:** District 5  
**Contract Time:** 100 AVAILABLE DAYS  
**Contract Descr:** SR 44

**Call Order:** 003  
**Counties:** VOLUSIA

**Contract:** E50G5  
**Fed Aid No:** N/A  
**Project(s):** 44708615201 (\*)

The Improvements under this Contract consist of Milling & Resurfacing, Signing/Pavement Markings, and Bridge Rehabilitation on SR 44 from Riverside Drive to Desoto Drive and also on SR 44 from Canal Street to SR 44 (Connector) approximately 1.297 miles in Volusia County.

PREQUALIFICATION REQUIRED

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0005 0101 1 MOBILIZATION 44708615201		(1.000) LS	17,700.00000	17,700.00	97,521.00000	97,521.00	117,975.00000	117,975.00
0010 0102 1 MAINTENANCE OF TRAFFIC 44708615201		(100.000) DA (LS)	41,462.50000	41,462.50	90,000.00000	90,000.00	78,500.00000	78,500.00
0015 0102 14 TRAFFIC CONTROL OFFICER		32.000 HR	82.15000	2,628.80	90.00000	2,880.00	150.00000	4,800.00
0020 0102 60 WORK ZONE SIGN		766.000 ED	0.30000	229.80	0.24000	183.84	25.00000	19,150.00
0025 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		8,486.000 ED	0.15000	1,272.90	0.13000	1,103.18	0.20000	1,697.20
0030 0102 74 8 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)		1,116.000 FD	0.10000	111.60	0.09000	100.44	0.15000	167.40



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0035 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		112.000 ED	6.20000	694.40	5.85000	655.20	8.00000	896.00
0040 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		355.000 ED	13.05000	4,632.75	14.00000	4,970.00	18.00000	6,390.00
0045 0102104 TEMPORARY SIGNALIZATION AND MAINTENANCE, INTERSECTION		100.000 ED	10.25000	1,025.00	9.25000	925.00	8.25000	825.00
0050 0102107 1 TEMPORARY TRAFFIC DETECTION AND MAINTENANCE, INTERSECTION		100.000 ED	17.05000	1,705.00	15.00000	1,500.00	13.75000	1,375.00
0055 0102115 TYPE III BARRICADE		564.000 ED	0.40000	225.60	0.35000	197.40	1.25000	705.00
0060 0102913 11 REMOVABLE TAPE, BLACK, SOLID 6"		0.034 GM	5,388.25000	183.20	17,000.00000	578.00	13,000.00000	442.00
0065 0102913 12 REMOVABLE TAPE, BLACK, 10'-30', 3'-9', 6'-10', or 2'-4' SKIP		0.004 GM	5,388.25000	21.55	6,900.00000	27.60	7,850.00000	31.40
0070 0102913 21 REMOVABLE TAPE, WHITE, SOLID 6"		0.171 GM	12,874.30000	2,201.51	17,000.00000	2,907.00	13,000.00000	2,223.00
0075 0102913 22 REMOVABLE TAPE, WHITE, 10'-30', 3'-9', 6'-10', or 2'-4' SKIP, 6" WIDE		0.004 GM	5,388.25000	21.55	6,900.00000	27.60	7,850.00000	31.40



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0080 0102913 23 REMOVABLE TAPE, WHITE, 24" STOP BAR		24.000 LF	12.40000	297.60	7.00000	168.00	15.00000	360.00
0085 0102913 29 REMOVABLE TAPE, WHITE, MESSAGE, SYMBOL OR ARROW		3.000 EA	368.50000	1,105.50	350.00000	1,050.00	395.00000	1,185.00
0090 0102913 31 REMOVABLE TAPE, YELLOW, SOLID, 6"		0.198 GM	13,033.00000	2,580.53	17,000.00000	3,366.00	13,000.00000	2,574.00
0095 0104 10 3 SEDIMENT BARRIER		5,660.000 LF	0.85000	4,811.00	1.05000	5,943.00	1.50000	8,490.00
0100 0104 18 INLET PROTECTION SYSTEM		7.000 EA	157.95000	1,105.65	150.00000	1,050.00	200.00000	1,400.00
0105 0107 1 LITTER REMOVAL		63.420 AC	131.60000	8,346.07	47.00000	2,980.74	65.00000	4,122.30
0110 0107 2 MOWING		49.990 AC	184.25000	9,210.66	150.00000	7,498.50	50.00000	2,499.50
0115 0110 4 10 REMOVAL OF EXISTING CONCRETE		43.000 SY	140.10000	6,024.30	25.00000	1,075.00	200.00000	8,600.00
0120 0327 70 2 MILLING EXISTING ASPHALT PAVEMENT, 3 1/2" AVG DEPTH		13,706.000 SY	2.45000	33,579.70	2.50000	34,265.00	6.00000	82,236.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0125 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH		9,698.000 SY	4.35000	42,186.30	2.40000	23,275.20	5.00000	48,490.00
0130 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		10,069.000 SY	4.85000	48,834.65	1.70000	17,117.30	4.00000	40,276.00
0135 0334 1 12 SUPERPAVE ASPHALTIC CONC, TRAFFIC B		2,307.800 TN	114.00000	263,089.20	131.58000	303,660.32	140.00000	323,092.00
0140 0337 7 81 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22		2,761.500 TN	157.00000	433,555.50	135.25000	373,492.88	155.00000	428,032.50
0145 0413151 METHACRYLATE MONOMER		235.000 GA	80.00000	18,800.00	75.00000	17,625.00	110.00000	25,850.00
0150 0413154 CLEANING & SEALING CONCRETE SURFACES - PENETRANT SEALER OR METHACRYLATES		23,449.000 SF	1.60000	37,518.40	2.20000	51,587.80	2.00000	46,898.00
0155 0520 1 10 CONCRETE CURB & GUTTER, TYPE F		58.000 LF	60.10000	3,485.80	49.50000	2,871.00	50.00000	2,900.00
0160 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		43.000 SY	132.40000	5,693.20	105.39000	4,531.77	75.00000	3,225.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0165 0527 2 DETECTABLE WARNINGS		60.000 SF	26.30000	1,578.00	29.50000	1,770.00	50.00000	3,000.00
0170 0570 1 2 PERFORMANCE TURF, SOD		921.000 SY	7.40000	6,815.40	5.00000	4,605.00	5.00000	4,605.00
0175 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		2.398 GM	1,699.90000	4,076.36	3,200.00000	7,673.60	1,050.00000	2,517.90
0180 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND, 8"		0.054 GM	2,290.90000	123.71	4,600.00000	248.40	1,350.00000	72.90
0185 0710 11123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"		2,040.000 LF	1.20000	2,448.00	2.00000	4,080.00	1.75000	3,570.00
0190 0710 11124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"		1,474.000 LF	1.90000	2,800.60	2.75000	4,053.50	3.50000	5,159.00
0195 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		531.000 LF	2.15000	1,141.65	3.95000	2,097.45	3.50000	1,858.50
0200 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6" WIDE		0.105 GM	797.25000	83.71	1,100.00000	115.50	950.00000	99.75



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0205 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSION, 6"		0.296 GM	820.05000	242.73	1,125.00000	333.00	950.00000	281.20
0210 0710 11160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL		1.000 EA	78.95000	78.95	95.00000	95.00	85.00000	85.00
0215 0710 11170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS		44.000 EA	41.05000	1,806.20	55.00000	2,420.00	50.00000	2,200.00
0220 0710 11180 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, YIELD LINE		27.000 LF	19.50000	526.50	14.00000	378.00	5.00000	135.00
0225 0710 11201 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		2.384 GM	1,702.75000	4,059.36	3,200.00000	7,628.80	1,050.00000	2,503.20
0230 0710 11224 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR DIAGONAL OR CHEVRON, 18"		540.000 LF	1.90000	1,026.00	2.75000	1,485.00	3.50000	1,890.00
0235 0710 11231 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"		0.582 GM	834.15000	485.48	1,100.00000	640.20	950.00000	552.90



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 Roadway</b>								
0240 0710 11241 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXTENSION, 6"		0.349 GM	815.45000	284.59	1,125.00000	392.63	950.00000	331.55
0245 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID 44708615201		(1.000) LS	50,000.00000	50,000.00	50,000.00000	50,000.00	50,000.00000	50,000.00
<b>0001 Roadway Section Totals:</b>				<b>\$1,071,917.46</b>		<b>\$1,143,149.85</b>		<b>\$1,344,300.60</b>

<b>SECTION: 0002 Signing</b>								
0250 0700 1111 SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF		13.000 EA	521.15000	6,774.95	795.00000	10,335.00	515.00000	6,695.00
0255 0700 1500 SINGLE COLUMN GROUND SIGN ASSEMBLY, RELOCATE		1.000 EA	505.35000	505.35	650.00000	650.00	200.00000	200.00
0260 0700 1600 SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE		2.000 EA	47.40000	94.80	120.00000	240.00	50.00000	100.00
0265 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		987.000 EA	6.30000	6,218.10	6.95000	6,859.65	5.00000	4,935.00
0270 0710 90 PAINTED PAVEMENT MARKINGS, FINAL SURFACE 44708615201		(1.000) LS	23,162.65000	23,162.65	23,575.00000	23,575.00	17,303.00000	17,303.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0002 Signing</b>								
0275 0711 11102 THERMOPLASTIC, STANDARD, WHITE, SOLID, 8" FOR INTERCHANGE AND URBAN ISLAND		0.054 GM	6,141.65000	331.65	10,500.00000	567.00	6,400.00000	345.60
0280 0711 11123 THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDBOUT		2,040.000 LF	4.20000	8,568.00	4.00000	8,160.00	4.00000	8,160.00
0285 0711 11124 THERMOPLASTIC, STANDARD, WHITE, SOLID, 18" FOR DIAGONALS AND CHEVRONS		1,474.000 LF	5.25000	7,738.50	6.00000	8,844.00	5.00000	7,370.00
0290 0711 11125 THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK		173.000 LF	6.30000	1,089.90	10.00000	1,730.00	5.00000	865.00
0295 0711 11141 THERMOPLASTIC, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 GAP EXTENSION, 6"		0.296 GM	2,991.40000	885.45	2,800.00000	828.80	2,200.00000	651.20
0300 0711 11180 THERMOPLASTIC, STANDARD, WHITE, YIELD LINE		27.000 LF	23.15000	625.05	30.00000	810.00	15.00000	405.00
0305 0711 11224 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON		540.000 LF	5.25000	2,835.00	5.75000	3,105.00	5.00000	2,700.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0002 Signing</b>								
0310 0711 11241 THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED GUIDE LINE /6-10 DOTTED EXTENSION LINE, 6"		0.349 GM	2,974.55000	1,038.12	2,800.00000	977.20	2,200.00000	767.80
0315 0711 14125 THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK		345.000 LF	15.25000	5,261.25	19.00000	6,555.00	15.00000	5,175.00
0320 0711 14160 THERMOPLASTIC, PREFORMED, WHITE, MESSAGE		1.000 EA	231.65000	231.65	400.00000	400.00	325.00000	325.00
0325 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW		44.000 EA	205.30000	9,033.20	250.00000	11,000.00	275.00000	12,100.00
0330 0711 14527 THERMOPLASTIC, PREFORMED, 24" WHITE WITH 4" BLACK CONTRAST FOR STOP LINE ON CONCRETE PAVEMENT, 32"		24.000 LF	40.00000	960.00	25.00000	600.00	24.00000	576.00
0335 0711 14560 THERMOPLASTIC, PREFORMED, WHITE WITH BLACK CONTRAST ON CONCRETE PAVEMENT, MESSAGE OR SYMBOL		3.000 EA	715.90000	2,147.70	580.00000	1,740.00	1,000.00000	3,000.00
0340 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"		2.398 GM	5,718.85000	13,713.80	6,500.00000	15,587.00	5,450.00000	13,069.10



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0002 Signing</b>								
0345 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SKIP OR 3-9 LANE DROP		0.105 GM	2,005.40000	210.57	1,750.00000	183.75	1,850.00000	194.25
0350 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"		2.384 GM	5,728.40000	13,656.51	6,500.00000	15,496.00	5,450.00000	12,992.80
0355 0711 16231 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"		0.582 GM	2,098.45000	1,221.30	1,750.00000	1,018.50	1,850.00000	1,076.70
0360 0713103101 PERMANENT TAPE, WHITE, SOLID, 6" FOR CONCRETE BRIDGES		0.137 GM	38,363.65000	5,255.82	85,000.00000	11,645.00	40,000.00000	5,480.00
0365 0713103121 PERMANENT TAPE, WHITE, SOLID W/CONTRAST, 6" PRIMARY LINE WIDTH, FOR CONCRETE SURFACES		0.034 GM	60,383.80000	2,053.05	95,000.00000	3,230.00	40,000.00000	1,360.00
0370 0713103141 PERMANENT TAPE, WHITE, 6-10 SKIP/DOTTED, 6" FOR CONCRETE SURFACES		0.004 GM	10,000.00000	40.00	25,000.00000	100.00	25,000.00000	100.00
0375 0713103201 PERMANENT TAPE, YELLOW, SOLID, 6" FOR CONCRETE BRIDGES		0.198 GM	38,795.85000	7,681.58	85,000.00000	16,830.00	40,000.00000	7,920.00
0380 0713103341 PERMANENT TAPE, BLACK, 6-10 DOTTED EXTENSION, 6" FOR CONCRETE SURFACES		0.004 GM	11,000.00000	44.00	25,000.00000	100.00	25,000.00000	100.00



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0002 Signing</b>								
<b>0002 Signing Section Totals:</b>				<b>\$121,377.95</b>		<b>\$151,166.90</b>		<b>\$113,966.45</b>

<b>SECTION: 0003 Signalization</b>								
0385	0611 1 1	1.297	3,260.30000	4,228.61	2,800.00000	3,631.60	2,640.00000	3,424.08
	ITSFM SUBSURFACE DOCUMENTATION- PROJECT LENGTH	MI						
0390	0611 2 1	1.000	2,185.30000	2,185.30	1,800.00000	1,800.00	1,760.00000	1,760.00
	ITSFM LOCATION DOCUMENTATION- INTERSECTION	EA						
0395	0630 2 11	116.000	13.05000	1,513.80	11.50000	1,334.00	10.52000	1,220.32
	CONDUIT, FURNISH & INSTALL, OPEN TRENCH	LF						
0400	0630 2 12	156.000	25.35000	3,954.60	23.00000	3,588.00	20.42000	3,185.52
	CONDUIT, FURNISH & INSTALL, DIRECTIONAL BORE	LF						
0405	0633 6	100.000	170.75000	17,075.00	150.00000	15,000.00	137.50000	13,750.00
	FIBER OPTIC CABLE LOCATOR	DA						
0410	0635 2 11	2.000	2,060.65000	4,121.30	1,900.00000	3,800.00	1,659.59000	3,319.18
	PULL & SPLICE BOX, F&I, 13" x 24" COVER SIZE	EA						
0415	0660 1110	4.000	728.35000	2,913.40	800.00000	3,200.00	586.58000	2,346.32
	LOOP DETECTOR INDUCTIVE, F&I, TYPE 10	EA						



Tabulation of Bids

Letting: 05260203 February 03, 2026 Call Order: 003 Contract: E50G5

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) C.W. ROBERTS CONTRACTING, INC.		(2) MASCI GENERAL CONTRACTORS, INC		(3) HALIFAX PAVING, INC.	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0003 Signalization</b>								
0420 0660 2102 LOOP ASSEMBLY, F&I, TYPE B		2.000 AS	2,014.60000	4,029.20	2,100.00000	4,200.00	1,622.50000	3,245.00
0425 0660 2106 LOOP ASSEMBLY, F&I, TYPE F		5.000 AS	2,492.65000	12,463.25	2,500.00000	12,500.00	2,007.50000	10,037.50
<b>0003 Signalization Section Totals:</b>				<b>\$52,484.46</b>		<b>\$49,053.60</b>		<b>\$42,287.92</b>
<b>Contract Grand Totals:</b>				<b>\$1,245,779.87</b>		<b>\$1,343,370.35</b>		<b>1,500,554.97</b>



Tabulation of Bids

---

**Letting:** 05260203 February 03, 2026 **Call Order:** 003 **Contract:** E50G5

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*